B 3 ¥h AR E 102 25 Bt R Ama g 4 3845
PR B TAR AT an

# B R |

AR OO0 (F4838)

A4 EEFR

— ~ A5 R 80 48 -

Zo~ AE A EAR
Z-ARMATQRRFT @ 0 THELRHMER

WA (2547

1 -4 2 6 5 -3
1 1 _ -4 —
;*éi"f =0 2 3 A B =1 -4 -l oot BN A det(B)
I I 2 5

R (25 )
A& B={(1, 1,0),(1,2,0),(0, 1, 2)} #% % E X KK

%ﬁﬁﬁjii (25 4

0 2 1 3 =2]
1 -2 3 2 -1
0 1 -12 3
R4E 1k 103 2 4 -3 2479 K
11 3 2 0

WAL (25 4)
—EHEE=aEw =03 & w, =(2,0,0), @& v=(1,1,3)£F %M
W = span({w,,w,}) Loy %%

FL1R (#278)



WARA: (25 4)
(8) KT FI4ERR 64 RAE I -
(b) H| M7 A 451 R F 2 %4 M (singular matrix) ? 33k o

I -1 0
A=|1 0 -1
-6 2 3

AN (254
3 A B RS 4E M (skew-symmetric matrix) > B a~ b~ cFo d B ?
d
A=| a

o 0
o h O

~2

WA (254

e A4 2 ¥ 48 M (symmetric matrix) o

AN (255

RFIER A BB ERMAHGHNOE -

1
0
1

AN
Il
= O -
e

B2R (H2A)



